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OB 14 & E 2,711 386 377 9 [385]
OB 15 & E 1,949 558 542 16 [558]
OB 16 & E 1,580 597 577 20 [597]
OB 17 & OE 1,389 523 471 45 [523]
F R 18 B 2,197 713 637 76 [713]
b 23 99 10 10 - [10]
(&R) 12 5 5 - [5]
R 182 28 28 = [28]
Tk 564 31 31 - [31]
=)\t 109 16 16 - [16]
EFILER 20 13 13 - [13]
=REdLap 46 30 30 - [30]
(A#) 18 18 18 - [18]
ZpEPED 45 24 24 - [24]
2 35 2 2 = [2]
EFEE 36 12 12 - [12]
(=EF) 7 5 5 - [5]
= ALED 25 21 20 1 [21]
= 27 27 27 - [27]
KA 110 44 28 16 [44]
(E/NRHD) 216 74 Al 3 [74]
KKEEED 188 188 174 14 [188]
FE 97 68 32 36 [68]
(&iR) 13 13 13 - [13]
EBF| 138 14 14 - [14]
ER 19 14 14 - [14]
1T} 8 7 7 - [7]
(& Lt) 64 32 32 - [32]
BB 19 17 11 6 [17]

1 ARG, ENRETRERRCEMARRICEVERLZ,
2 ARIZF, FRIFEFTIHRNRLERBLE SINREERSRERUEBRICLDIETHEB/LL,

TRIAEENDLIE, FRRRREEREEE FHEEREERERERUEBRICLIETHEBLLE,

3 HEAROXT IEOL 1IHEHER(REEH) THd.
4 HBMKERBEREEBICLDRTHEL, MKIEFLTHELT.




{3 (1 :ha)

il AIFHE ET 148 ETIE E58 it RE

407 1,770 149 9,681
229 1,052 106 8,833
170 686 125 9,163
41 725 100 10,470
31 1,295 155 11,180
= 35 53 739

= 89 19 121

= 143 11 555
31 493 8 686
= 83 10 374

= = 7 307

= 13 4 338

= = = 210

= 1" 10 197

= 22 10 503

= 20 4 268

= = 2 395

_ - - 303

= = = 135

= 62 4 1,570

. 142 - m

_ - 0 745

= 22 7 714

_ 0 - 252

= 124 = 368

= 5 = 285

= 1 1 271

= 26 6 926

_ 1 0 142




